
1. (i) (a) Parliament

(ii) (c) Session Court

(iii) (c) It works on the spirit of compromise

(iv) (b) Q and S

(v) (b) Lack of quorum

(vi) (c) Discretionary

(vii) (b) R is the reason for A

(viii) (d) Ilbert Bill

(ix) (c) Could be arrested without a warrant

(x) (c) Lord Lytton

(xi) (c) Write a petition to the authorities highlighting the problem

(xii) (d) To train and organise public opinion in the Country

(xiii) (a) Raja Rammohan Roy

(xiv) (a) Austria and Hungary became separate states

(xv) (a) Mutual non-aggression

(xvi) (b) Hitler's attack on Poland
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